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Let us see; this needle is something which has no mind to be asked

OVERVIEW

The X723 asked why is it necessary to establish the 71wn in a 71", even if took
place in a *"731 it would still be 77w 1290, since the vnn is something which is not
mindful, and therefore even in a °"717 the rule is M7V P°20. Our NMBOIN discusses the
word vnn (which is the pertinent source of the XM here).l
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The explanation of the words ‘this needle’ is the utensil which touched the v
(meaning the knife); that utensil is HXw°2 nN¥7 12 PR S0 it is not PON AXMIW PapPn even in a >"7A.

moon explains why vrnn °Xi1 cannot be referring to the needle -
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For we do not require that the source of the 7821 should have 2% ny7, but
rather only the item contracting the X% needs to have 7Xw>2 ny7 in order to become
PD0M XY in a °"77. MB0IN proves his point -
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For if it would not be so, but rather the Xnuvni 727 requires X7 nY7 (to be RnvA
P90n in a ""77), every YR n» nR2W should be 777w 32380 even in a 3''7717 since the
nn and the 7w have no YXw nyT.

SUMMARY
The exemption of n¥7 12 PX applies only to the X1vnnT 727 not to the Xnwvn.

THINKING IT OVER
What are the relative advantages of '01n1 >"w1d respectively regarding "onn “Xi'?

'See X7 77"7 *"wA who is either not 07> the word vnn, or alternately the word v is merely an identifier of the niwn,
but we cannot be discussing the vnn per se.

* The term w170 signifies that we must interpret it differently from the apparent meaning. The difficulty with that
interpretation will become apparent shortly.

3 If we are unsure whether someone or something touched a Y1 n» (even) in a *"717 it should be 7177w 17750 since the
71 nn do not possess 2Xw? ny7. This is obviously not so. Therefore we must conclude that the exemption of 12 X
OXw? ny7 applies only to the item becoming XY not to the Xnun 727
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